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General Awareness / H6dS WWIAH (W™ ATIIgA3T)

Which of the following provisions of the

Indian Constitution has been taken from

the Weimar Constitution of Germany?

(A)  Directive Principles of State Policy

(B) Federalism

(C) Emergency and its effects on the
Fundamental Rights

(D)  Concurrent List

What proportion do the elected members
of the district level Panchayat have in the
District Planning Committee?

(A)  Half of the strength

(B One-third of the total strength

(

(

~—"

C) Two-thirds of the total strength
D) Four-fifths of the total strength

Panchayati Raj Institutions and urban
local bodies led towards a system called:

A)  Democratic pluralism
B) Democratic monism

)  Democratic centralisation
D) Democratic decentralisation

Which provision of the Constitution of
India provides immunity from ‘self -
incrimination’ (witness against himself)?

(A)  Article 19
(B)  Article 20
(C)  Article 21
(D)  Article 22

133t Hieus © It it fied fam feurs
@ AIH&! T HJ FHieurs & font fam 32
(A)  IHYUTSH € fager3Hd fHu3

(B) Huew
(C)  WHIHH w3 Higd mfgargt 3 fere

yse

(D) HH<IS Hul

st s gt feg fagT Yudt Yarfes @
g3 IR HIIT T U3 A I?

(A) oS HET T T

(B) & At T e f3gret

(C) & Higwi w1 -f3gret

(D) & Higw T grg-Uat

Hrgret & g yITEt § widt <ufonn 3, fAn
3 fggaAwd

( B33 AT

( BI33d niE3TT
(C) BFI3d dedlada
(D) Ja33dt fedediads

3133 © Hieus = fgaz feus ‘Ae-en
BT (self -incrimination) (MU fedu
gierg) I S393 fear J?

(A)  »ae< 19
(B)  W@ew 20
(©)  WzaT 21
(D)  WERT 22
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Which among the following is a warrior
sect of Sikhism?

(A) Udasi
(B) Nihang
(C) Namdhari
(D)  Nirmala

At which part of the eye is the image of
an object formed?

(A) Sclera
(B)  Pupil
(C) Retina
(D) Iris

In right-hand thumb rule, thumb point
towards

(A)  The direction of magnetic field
(B)  The direction of magnetic force
(C)  The direction of electron

(D)  The direction of current

If you want to store charge, which of the
following device you will use?

(A)  Ammeter
(B)  Resistor
(C)  Capacitor

(D)  Transistor

Which disease among the following does
not have a vaccine?

(A)  Chickenpox

(B) Hepatitis A

(C) Hepatitis B

(D) HIV

Jot i3t fed fagzr iy uan © g
uy faggar J?

(A) G

(B) faddr

(C) &™urdt

(D) fsgHET

Y & fqg3 9191 §3 fan <Az w1 y3idy
g

(A)  HIZJ (Sclera)

(B)  y3st (Pupil)

(C) JII& (Retina)

(D) »fEgH (Iris)

Hil I8 2 WIS < faw &g, »igeT

<& fomgr 3w J1
(A) Ygdi g3 < fomr
(B) gt gm d fomr
(C) fesads dtfom
(D) dec <t famr
Hold 3H 97 HId A& I1de J, 313378
fegt f&4 foret 293 Fgat grdiet J7
(A) Wt
(B) Iffmcd
(C) JUAST
(D) <ifAcg
J& fafimtt i39G faadt fanrdt T Jar Hge
St J?
(A)  T9d
(B) JUeTEeH A
(C) JucEicA B
(D) HIV
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10.

11.

12.

13.

14.

Where is the Gurudwara Dukh Nivaran
Sahib located?

(A)  Amritsar
(B) Bhatinda
(C) Patiala

(D)  Chandigarh

Which among the following is built in
computers to connect it to a wired
network?

(A)  Ethernet Port

(B) Parallel Port

(C)  VGA Monitor Port
(D) PS/2 Ports

Which among the following is NOT a type
of Jhumar Dance?

(A)  Sutlej Jhumar
(B) Beas Jhumar
(C) Malwan Jhumar
(D)  Multani Jhumar

What is a code generally hidden in games
or spreadsheets and causes harm to the
data?

(A)  Disk Cleaner

(B) Boot Sector Virus
(C) Worm
(D)  Trojan Horse

Which is a Sikh festival held to
commemorate Sri Guru Nanak Dev Ji's
birth?

(A) Teeyan

(B) Diwali

(C)  Guruparab

(D) Rakshabandhan

JgedT ey faegs mfag fag Afgz 99

(A)  wif3Hg

(B) €&z

(C) ufenrgr

(D) 433

fegat fed fagzr Auged fea fem &

33-Ud3 4 318 13 el gy
famrm 32

(A) dEgde Ude

(B) UJIBs Ude

(C) VGAH&led Ude

(D)  PS/2 Ud<H

Jat et S8 faaz gHa w ¥ Yarg
&

(A)  H3BHAIHI

(B) fo™ 3Hg

(C) HIEIIHI

(D) HBI&IgHd

It | HYSHie! g w39 3 faaa 93
Bfot Je1 J, 7 3R & TIHE Ud9Eer 97
(A) f3HS IZtad

(B) gc Hd<d <fegn

(C) <M

(D) A& JIA

i w1 fqaz (38ad i g s & e it &
AoHEs © U ST HaTemT e 3

(A) o

(B) <erEt

(C) Jrdyds

(D) JImEUs
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15.

16.

17.

18.

19.

Who was the Mahant of Gurudwara Guru
Ka Bagh before it was obtained by
Akali dal in the year 19227

(A)  Mahant Sundar Das
(B) Mahant Narayan Das
(C) Bhai Laxman Singh

(

D) Ripudaman Singh

Which Sikh Guru created the Khalsa in
16997

(A)  Guru Nanak Dev
(B) Guru Amardas

(C)  Guru Gobind Singh
(

D)  Guru Har Rai

Alluvial plains formed by Ghaggar river in
south-east of Punjab are known as

(A) Bet

(B) Khadar
(C) Nally
(D) Kandi

Soda water contains which of the
following gases?

(A)  Carbon Dioxide
(B) Hydrogen

(C) Nitrogen

(

D) Ammonia

The government’s ‘Padhna Likhna
Abhiyan’ aims to achieve which of the
following?

(A)  Full Employment
(B)  Basic Literacy
(C)  Higher Education
(

D) Technical Education

1922 8 MAH TS AT Y3 Fi3 7S
3 Ufgst IIgenTaT g o1 9191 € HJ3 oS
Hi?

(A)  HI3HTITH

(B) HJ3&ITEETH

(C) gt ®HHE fHw

(D)  fayeHs fHw

form Y 91d & 1699 S8 YA & HEmET
it

(A)  HIdEES e Ht
(B) 7 Ird »miHITH i
(C) g e fRw
(D)  #grg Ifgare

UArg © TYE-YJy g Uarg efgn omrar
TR IS TS S = Afenn
AT )

(A) €<

(B) wywd

C) st

(D) d3t

31 <red feg Js fifawrt fed faadt am
det a7

(A)  IIIS IEATTAES

(B) JreEIAs

(C) &S

(D)  »H&MT

HIATd & YT {SHST wfPfTs’ &1
foat fed fam @ Yus 93da1 92

(A)  Yds Ixdrd

(B) el AT

(C) G fiffepnr

(D)  3Atel fHfemr
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20.

21.

22.

23.

24.

What is another name of Qila Raipur
Sports Festival?

A)  Rural Commonwealth
B)
C) Rural Championship
D)  Rural Wimbledon

(
( Rural Olympics
(
(

Which state borders Punjab on the
South?

(A) Haryana

(B) Delhi

(C) Himachal Pradesh
(

D) Madhya Pradesh

In a fibre optic cable signal travels in the
form of:

(A)  Electricity
(B) Magnetism
(C) Sound

(D)  Light

Where is Shamsher Khan's tomb located
in Punjab?

A)  Gurdaspur

(

(B) Jalandhar
(C) Amritsar
(D)  Phillaur

Which city of Punjab is famously known
as City Beautiful?

(A)  Amritsar
(B) Ludhiana
(C) Pathankot
(

D) Chandigarh

fa®T IEYI AUTCH SHARS T g1 a™H off
I

(A)  JIB THELBE

(B) I8 GIfudH

(C) JI% Tubmiafiy

(D) gIsfiCas3s

UArg © Tyc feg fggzr aa Afa3 a7
(A)  Ifgmr

(B) fo&t

(C) foHgs YeH

(D) HuydwH

Tetgg wufed 9% feg fATes
vy fE e

A)  faaEl

(B) dgd3T

C) Tat

(D) YydH

Urrg feg id U'e T HIgd' fog Afg3
P

(A)  JrdeTHYd

(B) #&Ud

(C) wifzHg

(D) fe=&g

Uarg w1 f9a3T migd fAdt fagdtes (City
Beautiful) ® ™ &T8& AT HigT J?

(A)  wifzHg
(B) Bftar
(C) Ya&de
(D) d3Z

AB



25.

26.

27.

28.

Who among the following appears on
behalf of the Government of India in any
reference made by the President to the
Supreme Court as per Article 143 of the
Constitution of India?

(A)  Vice President

(B)  Prime Minister
(C) Attorney General
(D) Home Minister

Article 22 of Indian constitution related to
Fundamental Rights, provides the citizens
with

(A)  abolition of titles

(B) protection against arrest and
detention in certain cases

(C) equality before law

(D) freedom to choose their occupation

Which of the following schedules of the
Constitution of India recognises 22
languages as official languages?

(A)  Sixth schedule
(B)  Seventh schedule
(C) Eighth schedule
(D)  Ninth schedule

Who among the following addresses the
House of the People at the first session
after each general election and at the
commencement of the first session of
each year?

(A)  The President of India

(B) The Speaker of Lok Sabha
(C)  The Prime minister of India
(D)  The Chairman of Rajya Sabha

143 © WEHTd AU Jde &t Iiacaust
T fan <t Hegs g 3793 Adad <& Jfad
Jord?

(A)  Budmeaust

(B) YUt H3dt

(C) MIIA ASIS

(D)  gfg ¥zt

Higa wifterdt a7 7Efu3 3733t Afeus <

NEET 22 AN § _ YTTH Fdet d

(A) el T y3HT

(B) 9 AfF3ti fg fafg3rdt »i3
&rdg<t fedu Adftmr

(C) JE& ©l &Hd f[Sg AHES

(D) MY fo31 g5 nirare

31d3 © HieUs © fqazt wigHdt fieg 22
FTHR & U3 IR T HIE3T Y3

(A) &<t wiggdt

(B)  H3< migHsl

(C) nia<lnisgd

(D) A wigEd

foat fed o w9t 3 gmie 2 ufas
RS 3 I 7S © UfI ARG <t g3
T &9 AT § HA3 et J?

(A)  Ig3 T IHIIUS

(B) BIHI T Midd

(C) II3 T YUE H3dl

(D) I HAST T OMIHG

AB



29.

30.

31.

32.

33.

In which year was the Sikh political party,

Shiromani Akali Dal found?

(A) 1900
(B) 1910
(C) 1920
(D) 1930

In which district Roshni Da mela
organised every year in Punjab?

(A)  Amritsar
(B) Ludhiana
(C) Jalandhar
(D) Bathinda

Captain Amarinder Singh was
commissioned in which regiment of the
Indian Army?

(A)  Gorkha Rifles

(B) Bihar Regiment
(C) Sikh Regiment
(D) Madras Regiment

When was the province of "East Punjab”
renamed as the state of "Punjab"?

(A) 1950
(B) 1956
(C) 1966
(D) 1971

iy IaaiE3a urgdt et wiast €%

HEUST foH A It Hi?
(A) 1900
(B) 1910
(C) 1920
(D) 1930

Uy feg, TAsl T AT 99 7 faas s
fRg B d?

(A)  wifzHg

(B) it

(C) w%&ug

(D) €&z
Jritie g faua3 o3t famr e
(A)  Jigur gdiesH
(B) fagrg JriHe
(C) fiyddie

(D)  HTJH JriiHe
fapa Ft?

(A) 1950

(B) 1956

(C) 1966

(D) 1971

Which among the following was not a part  fagat fed fqazr ufenmst w3 dire ¥ag
of Patiala and East Punjab States Union?  m2aq gats = fJAr i At?

(A) Patiala

(B)  Faridkot
(C) Malerkotla
(D) Pathankot

(A Yfeonrar
(B) gdiwde
(C) HBJAH
(D) YyaEde

AB



34.  Which article of the Constitution of India 3733 ® Afeurs < faadt Miga< JHIIUS!
authorises the President to seek the & HYIH dde €t I B B mifiargs
opinion of the Supreme Court? St
(A)  Article 134 (A)  MEex 134
(B)  Article 139 (B) i&se¥ 139
(C) Article 143 (C)  M&ex 143
(D)  Article 148 (D)  MEex 148

35. Delhi has all the legislative powers of a T8 A 89 g Tt Ardv feursd
state, EXCEPT: 'Hagcb),l'[ a—(g, fﬂe'ré' |
(A)  Police and land (A UfEH W3
(B)  Education and health (B)  fHftm m3 fHa3
(C)  Sanitation and construction (C) Wt w3 Grrdt
(D)  Local bodies and rural areas (D) HE®A HAER »3 I[HIT U39

Quantitative Aptitude and Numerical Skills / HT3ISHY W8T M3 AYHTSHS T&d
b— . b—
36- 1f 0.42a = 0.00224b, then find — . 99 0.42a = 0.00224b J, It —= U FJ|
b+a b+a
(A) 378 (A) 373
377 377
(B) 19 B) 1
13 13
(C) 377 (C) 377
373 373
(D) 13 (D) 13
19 19
37.  Simplify the following. J&1 fa3 @ I8 Jd1
7 3 .4 -
~ 2 of— 4 __3 7
130f10920f80f21 —'-<11092 <" —
21 8 13
(A) 34 (A) 34
(B) 42 (B) 42
(C) 12 C) 12
45 45
(D) 14 (D) 14
29 29

10
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38.

39.

40.

41.

If 20 women earn X 2000 in 5 days, how
much will 30 women earn in 8 days?

(A) %6000
(B) %2200
(C) %4800
(D) %4000

A can dig a hole in 40 days and B can do
it in 60 days. Along with C, they did the
jobin 12 days only. In how many days
can C alone dig two such holes?

(A) 24 days
(B) 48 days
(C) 10 days
(D) 8days

Find the average of following numbers:
245,452,729, 927, 121, 208

(A) 474
(B) 744
(C) 447
(D) 454

Simplify the following.
(1.2)3 — (0.8)?

(A) 10.88
(B) 1.88
(C) 1.088
(D) 18.8

H 20 g3t 5 fewst f&g 2 2000 IHET
IG, 3130 »ig3t 8 foat feg fdat aHTel

IJ&I?

(A) %6000

(B) %2200

(C) %4800

(D) %4000

A ¥z & 40 fori O T Aa@ I M3 B

fer & 60 fot R T AGTT J1 C R &1,
8qi & fHge 12 feai fCg dH § I f&nri C

feds fda foat feg Wi © Y3 82 Adw
I?

(A)  24fes

(B) 48fex

(C) 10fes

(D) s8fes
foHafafys At gt »iA3 U314
245, 452, 729, 927, 121, 208

(A) 474

(B) 744

(C) 447

(D) 454

Jot fi3 § IS 93|

(1.2)3 — (0.8)?

(A) 10.88

(B) 1.88

(C) 1.088

(D) 18.8

11
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Which of the following fractions is the Ja i 8t fegd 78 3 < fagdt o2

greatest?
6 2 20 18 6 2 20 18
7’3’21’ 5 7'3'21' 5
(A) 6 (A) 6
7 7
(B) 2 (B) 2
3 3
(C) 18 (C) 18
5 5
(D) 20 (D) 20
21 21

A sum fetched a total simple interestof ~ ffq Uadm '3 5 At {9 9% Yt 7 &
5,409 at the rate of 9% p.a. in 5 years. Td '3 35,409 T AUGS fenta Y3

i ?
Whatls the sum’ Ifemf| TagTH T US|
(A) 312,325 A) 312,325
(B) 312,020 B) 312,020
(C)  %12,000 (C)  %12,000
(D) 318,523 (D) 318,523

The given bar graph shows the number of {37 fgm 819 J[e Hames © Ufas & G=at
runs scored by a team in each of the first (o ers) fEd I fg fEq T <3 Tghut

. f h R o o W
six overs of a matc Jrehurt E=i <t Hftpr § waAger A

16 16

14 14

12 12

10 10

o N & o
: . |
o N B o ®

Over 1 Over 2 Over 3 Over 4 Over 5 Over6 Over 1 Over 2 Over 3 Over 4 Over 5 QOver 6

In which over did the team score 10 runs? <JtH & far §2g fag 10 &3 gTshmi?

(A) Over2 (A) B<g2
(B) Over3 (B) B<d3
(C) Over4 (C) B=g4
(D) Over5 (D) B<as

12 AB



45.

46.

47.

The given frequency polygon represents
data obtained from a grouped frequency
distribution giving test scores of students.
The class marks are given along the
horizontal axis and the frequencies are
given along the vertical axis.

o3t It arggTg3T gggn, fefomraghi ©
Uit »iq war It fea AYiad grdardar
33 I Y3 wigfamft § YeIfis ga<t Il
2JdI ¥3T8 B Udl &T&% W3 grdgrg3T

Y3l gdt a1 it aret 31

Marks obtained by students in a test out of
100

14

12

Marks obtained by students in a test out of

100
14
12

. 7\ | 7\
6 / \ N\ 5 / \ PN
\ / M N A \ / M N A
. ] N 4 N\
In which class interval do the marks A3 3 U fefonradhut Tt yru3 »ig far
obtained by the fewest number of I HIZTS feg I&5?
students lie?
(A) 60.5-70.5 (A) 60.5-70.5
(B) 59.5-69.5 (B) 59.5-69.5
(C) 54.5-74.5 (C) 54.5-74.5
(D) 60-70 (D) 60-70

If 60% of % of a number is 63, then the

number is:

(A) 125
(B) 100
(C) 150
(D) 175

In the 9™ class of a municipal school, the
ratio of total students of section A to
section B is 6 : 11. If 40% in section A are
girls and 48% in section B are boys then
what percentage of students in both the
sections are boys?

(A)  54.8%
(B) 56.8%
(C) 45%
(D)  49%

ﬁaaﬁé’aﬁfu»rr@%@so%,essﬁgf@a
AP UST I3 |

(A) 125
(B) 100
(C) 150
(D) 175

&JAUS S AgS ©f 9 J&TH {89, Hams
A %13 AIHG B © 9& fefenge o
WMEU3 6 : 11 J1 1 AT A 29 40%
3Tt I& w3 AIHS B fe9 48% H3 IS 3t
<t Han! 39 fefenrad T fdd Y2tz
13 I&?

(A)  54.8%
(B) 56.8%
(C)  45%
(D)  49%

13
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Seema bought a book and sold it to T & 8 fa3mg ydidt w3 20% B3 ©

Reema with 20% of profit. After some 5% g g g fiodt g3 fesi ame R g
days she needed that book and again OF fazg & 33yt nd S I wgg1 89
bought that book from Reema. Reema @le F R 10% B";I@?Y";S

sold that book to Seema at X396 with . .
10% of profit. What is the cost price of the @El EER Fﬂ)—ﬂg 3396 feg <dl| fa3ra

book? ydte HE ot Hi?
(A) %300 (A) %300
(B) 400 (B) %400
(C) 3500 (C) 500
(D) 600 (D) %600

Study the following bar graph and answer  fSH&fSY3 819 Ie T w3 »i3 fore

the questions based on it. WMOg "3 UG T 39 G
Earnings from User Fee at Toll Plazas in India (in X Crore) Earnings from User Fee at Toll Plazas in India (inT Crore)
6000 ¥ Revenue Collection # Revenve Shared from BOT Projects 6000  Revenue Colk Revenue Shared from BOT Projects
4937 4937

5000 5000

4179

3983 4179
4000
3447

3993
4000

3447

3000 3000

1848

1790 1825 2000 1848

1825
1135
. 1000
L

201314 2014415 201516 201617 201314 2014415 201516 201617

In which of the following years did the forafsfys fed fagl At f&g BoT Yrdet
BOT projects contribute more to the B H&EM feg3dtads feg =09 uaes

1790

2000

1135

1000

-

revenue collection? T

(A) 2013-14 (A) 2013-14
(B) 2014-15 (B) 2014-15
(C) 2015-16 (C) 2015-16
(D) 2016-17 (D) 2016-17
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50.

51.

52.

If x = 0.00458 and y = 0.00542, then
what is the value of x% + y? + 2xy?

(A) 1

(B) 0.01
(C)  0.001
(D)  0.0001

The average temperature of the first four
days of a week is 37 °C and the next 2
days is 39 °C. If the average temperature
of the week is 38 °C, then the temperature

of the last day is:

(A) 40 °F
(B) 40°C
(C) 37°C
(D) 41°C

. 45
If the given number
6 X 400

is expressed

in simplest form and the denominator is
expressed in the form of 2™ x 5™, then

what is the value of ‘n’?

(A) 1
(B) 12
€ 9
(D) 8

A x = 0.00458 »3 y = 0.00542 J,

a2 4 y2 4 2xy THB A DP?

(A) 1

(B)  0.01

(C)  0.001

(D)  0.0001

g 9g3 = Ufg® 97d fews! T »iAz 3Us

37 °C I W3 WIS 2 fest T 39 °c J| A

TS3 T NIAS IUHTE 38 °C J, 3T wif3H few
T IYNTS feT 7

(A)  40°F

(B) 40°C

(C) 37°C

D)  41°C

D R et e ——— & HI IS
96 X 400

QU YB3 AT I »m3 798

2n x 5™, © gu feg Yyedfiis dizrAfer 4,
3t THB A I?

(A) 1
(B) 12
C) 9
(D) 8

15
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53.

54.

55.

A school conducts periodical exams
every second month. Maximum total
marks in each periodical exam are 500.
The aggregate marks obtained by one
student in each periodical exam in a
particular academic year are represented
in the line-graph given below.

410 400 —e—Marks...
400 395
385 /./.7
g 390 780
£ 380
2 365
8 370
£ 360 | 355
]
2 350
340
330 : :
e S > & A &
N N hs) 0 2 "
DA O S R
¥ & QE& & W
Months

What is the percentage of marks obtained
by the student in the periodical exams of
December and February taken together?

(A)  75.5%
(B) 77%
(C) 78%

(D) 73.25%

The cost of 30 flats was I60 lakh each.

A builder sold § of the flats at 15% profit
1

and p of the flats at 6% loss. If he suffers

a net loss of 10% after selling the
remaining flats, then what was his loss
percentage in the remaining flats?

(A)  14%
(B) 14.3%
(C) 28%
(D)  14.5%

A sum of money at simple interest
amounts to 9,015 in 5 years and to
10,054 in 6 years. The sum is:

(A)  %3,132
(B) 3,988
(C) 3,820
(D) 3,889

i Ag® Id TH HAS HdAtd=d Yifemret
IS J1 I HAtdeTd Uifmr feg
§93H »iq 500 & | g YA wigrefid A
<9 I9 Hdla=Ta Yiftmr &g 8 fefemrast
T Y3 13 IS Wid J&T fe'3 Jur-
JId'e f<g TIA™ 9IE I |

410 400 —e—Marks...
400 ji-"/k
390 385
J;” 380
370
E‘SGO 355 /'/
./
350

340
330

\é‘e VQQ?(} & &£ 6o°6 “@‘é\
T

THYd M3 gd<d! el Hdl&aTd Yiftmret §
fHETa fefenratt Tt Y3 wiai &
Ei:EXCIRE
(A)  75.5%
(B) 77%
(C) 78%
(D)  73.25%
30 Bt ¥ B3 360 BY Yt s A
fean fawsd 8 L @851 8 15% B9 I3 =

38T S 6% TG 3 ot 7 B Tt
3fJT eBct § T 3 T IS 10% Tl

TIB YIH33T fd At Hi?

(A 14%

(B) 14.3%

(C) 28%

(D) 14.5%

f8q gt AuTgE ford 3 5 A&t {99 9,015

3 6 AST feg 210,054 J ATt J1 I ot
Jet 3

(A) 3,132
(B) 3,988
(C) 3,820
(D) 3,889
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Mental Ability and Logical Reasoning / HfEHS W3 %3 339 WA

56.

57.

Select an appropriate figure from the €33 nifat 3 fia ga<! mifqdt g& 1
answer figure to fit it in the place of ? UG ﬁc‘fa (?) © AES 3 4|
AR A
1 2 3 4 1 2 3
A B C D A B C D
(A) A (A) A
(B) B (B) B
(C) C (C) C
() D (D) D
Select the correct alternative which can  Hdl feq®y € 9 9 1 wq31 § Yar od
complete the figure: HITT 3|

NN

(A)

B) C B) C
(C) D (C) D
(D) A (D) A

17 AB



58.

59.

60.

Which number will come in place of the
question mark (?) in the given number
series?

5, 6, 10, 18, 20, ?, 40, 162

(A) 54
(B) 65
(C) 108
(D) 136

Select the answer figure that can replace
the question mark (?) in the series given

in the problem figure.

Problem Fig,.

fat gret Hitr T fe9 yrs fds (2) S g
3 faadt At wireatt?
5,6, 10, 18, 20, ?, 40, 162

(A) 54

(B) 65

(C) 108

(D) 136

89 €39 fg33 T 7 It 23 mifmur fiI33
feg it &t = yms fidg o) S & S Ha)

Problem Fig.

%<

ot

%

A -

s

o

g

A

A

B

C

A

B

C

D

Answer Fig.

2 (X | &%

Answer Fig.

1

2

3

4

g

i

=

%<

A)
B)
C)
D)

A ODN -

Which of the following numbers are
present in only 3 geometrical figures in
the given diagram?

(A) (39, 52)

(B) (26, 52)

(C) (24, 25, 26, 52)
(D) (25, 26, 52)

1 2 3 4
(A 1
B) 2
Cc 3
(D) 4
5 ffaft fed faadnrt Aftmiret £33 a2
fa339 <9 fige 3 fabifeas Qur-arfss)

f3dt fed Hige I&?

48

52 26

25

39

/“

(A) (39, 52)

(B) (26, 52)

(C) (24, 25, 26, 52)
(D) (25, 26, 52)

37
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61.

62.

63.

64.

65.

Select the letter-cluster that can replace
the question mark (?) in the following
series.

YXW, VUT, ?, PON

(A) QRS
(B) SRQ
(C) RSQ
(D) QSR

Select the letter-cluster that can replace
the question mark (?) in the following
series.

DJPV, CHMR, BFJN, ?

(A)  ACGI
(B) ACHJ
(C) ADGJ
(D) ADJG

Select the number that will come next in
the following series.

5,6, 14,45
(A) 90
(B) 93
(C) 138
(D) 184

Select the letter that can replace the

question mark (?) in the following series.

F,G, I, L, ?
A) M
(B) N
(C) O
(D) P

Select the number that can replace the

question mark (?) in the following series.

32, 37,44, 49, 56, 61, ?

(A) 66
(B) 67
(C) 68
(D) 70

89 »yg-AT ¥ H Jat i3 Bl fea

yrs f9g (2) S 8 B "ol
YXW, VUT, ?, PON

(A) QRS

(B) SRQ

(C) RSQ

(D) QSR

8J »yg-AYd T3 1 J&1 fasi B f<a
yrs fdg (2) e 8 Hal

DJPV, CHMR, BFJN, ?

(A) ACGI

(B) ACHJ

(C) ADGJ

(D) ADJG

Sr At T 9 99, 1 I fe 3t &3t fieg
y@gh () 3 nedh

5,6, 14,45,

(A) 90

(B) 93

(C) 138

(D) 184

8a »iyd g 1 Jot fii 3t &3 <9 yis fdg
?) T E & A

F,G, I, L2

(A) M

(B) N

(C) O

(D) P

8a Hitm g3 1 I&1 i3t B3 IS8 yis
fdg ) & B /|

32, 37,44, 49, 56, 61, ?

(A) 66

(B) 67

(C) 68

(D) 70
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66.

67.

Six friends P, Q, R, S, Tand U were aged g ¥A3 P, Q, R, S, T M3 U €t BHd 24-24

differently. Number of persons elder to Q
was thrice as that the number of persons
younger to S. P was younger to S. U was
younger to R but elder to T. Who was the
2nd eldest person?

(A) R
| T
€ U
(D) S

Which of the following answer figure
completes the series of the question
figure?

— * A —_
¥ oA e x| 2 || =
A ] — A
(A) o
A
*
(B) —
e A
%
(C) 0
[ A
¥
(D) a
| A
%

I Q3 <3 fenast S At s 3 e
foradmidi At e f3a /it P, S 3
s HIl U R3eTUITISITHI €

73 3 =3 fenast I A
(A) R
B T
(C) U
(D) S
nifeEt & B & Yt aa<t I
— * A —_—
x oA e x| 2 ||¢¥ o
A - — A
(A) o
I A
%
(B) —
& A
*
(C) (]
[ A
¥
(D) s
| A
¥
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68.

69.

The following figure is folded to form a
cube. Which of the following pairs of
symbols will be on opposite sides?

$
@|#|%|&
(A) #and %
(B) @ and&
(C) #and=
(D) @and%

The following figure is folded to form a

cube. Which representation of the cube in

the given option is correct one?

@
#1 % | =+
%
(A) %
# -_—
(B) %
@l
(C) #
. |
(D) @

%

It oSt wifeEt § e we g8 =t
N famr 31 It 83 I g At i

faga fdg war feddt fomr fg I<am

$
@|#|% | &
(A #M3%
B) @»3&
(C) #wnw3=
D) @M3%
J&t foSt w3t § e we g Bt
Afgnr famm I gl 3 feamsui fed wE =
faaz fegue At 32
@
#|1$ | =+
%
(A) %
# _—
(B) %
@ +
(C) #
+ %
(D) @
OA, =
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70.

71.

72.

73.

Find the missing term in the following
letter series:
PQ, __ ,VW,YZ

(A) ST
(B) QR
(C) RS
(D) TU

If M is the brother of the mother of the
son of N, then how is M related to N?

A Sister's husband
C
D) Son

)
B)  Wife's brother
)  Brother

(
(
(
(

Find the missing term in the following
letter series:

CHM, ,EJO, FKP
(A) DFG
(B) EIM
(C) DIN
(D) EJN

Study the following arrangement carefully
and answer the question given below:

‘A x B’ means ‘A is father of B’

‘A + B’ means ‘A is daughter of B’

‘A + B’ means ‘A is mother of B’

‘A — B’ means ‘A is brother of B’

In the expression A+ B — C x D, how is A
related to D?

(A)  Father's mother
(B)  Sister

(C)  Mother

(D)  Father

J&t oSt wiygd B3 g BU3 T U3T1 9a:
PQ, VW, YZ

(A) ST
(B) QR
(C) RS
(D) TU

AIIM,NBYIIAH T ITIITMEN
&8 ot fgasT I?

A) TR

(B) u3atErgd

(C) 3T

(D) Ysd

Jot a3t nivg Bt few Bus ue u3T 94:
CHM, , EJO, FKP

(A) DFG

(B) EIM

(C) DIN

(D) EJN

3t I 33t = foors &7 il &
W3 &t fe3 Yms w1 €33 feb:

‘AxB Tn@ggJ A BT

‘A+B TWTEJIA BT

‘A+B TNIEJ A BTAHIT

‘A-B' TWJEJ A BT ST T
forddgA+B-CxDfeg, AT DA Hl
fgmsr 372

(A)  fyzret v
B) 9=

(C) w3

(D) fuzr
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74.

75.

In this question, three statements have
been given followed by two conclusions
numbered | and Il. Assuming that all
information in the statement is true,
analyse the two conclusions together and
determine whether any of them logically
and definitely follow(s) from the
information given in the statement.

Statement I: Some angels are devils.
Statement II: No devil is demon.
Statement IlI: All demon are gods.

Conclusion:
[) All devils being gods is a possibility.
[I) Some devils are gods.

A)  Only I follows

B Only Il follows

C Both | and Il follows
D) Neither I nor Il follows

~ —

(
(
(
(

In the question given below, there are two
statements marked as Assertion (A) and
Reason (R). Mark your answer as per the
codes in options.

Assertion (A): Kashmir is colder than
Delhi.

Reason (R): Kashmir is at a higher
altitude as compared to Delhi.

(A) Both A and R are true and R is the

correct explanation of A.

(B) Both A and R are true but R is not

the correct explanation of A.

(C) Aistrue but R is false.

(D) Alisfalse but R is true.

fen yas 9, 38 qust 3 g 2 fHe
Attt | w3 At 11 83 918 I8 | FE&T ST
T fedfont ferdae 93 »3 fodufds o9
fq <t fed faazr e Juat feg i3t aret
&St & 399 HaE w3 femfas 33 3
UB ST JIeT J|

JES |: I3 T3, i5T6 IS |
JES |I: 8 < AIS, TI 7 I
JES IIl: A 23, J9 I |

i 1) A/d A3 © 99 IS T AT J|
) I3 13, T

(A) =B fHeT I UBTT gaeTJ

(B) <& e | U IaT1 J

(C) TWHSIMBNUBIT e IS
(D) & I fiAaT| & I USST I I

JaT i3 918 yHG fS9 € JEast § Tmiar (A)
3 9135 (R) T g3 o3t famr J1 i@
€33 § feasui fTg &3 A1 »igATd fdfg3

4|

TR (A): TG, e 383131

J1d5 (R): amHlg, fE@! t 384T feg

e Qo €3 1

(A) TSAMIRHATISMIR, AT Adt
e J)

(B) TAWIRHYIISUIR, A< A
fenmfiut &t I

(C) AFHAUIRIBII

(D) AJ®3IIUIRANII
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Language Skills (Punjabi/ English) / 3Tt ©® g&d (UATst/ »ard+l)

English Passage

Read the following passage carefully and answer the given questions from Q 76
to Q 80.

Super-30 is a philanthropic mission for the upliftment of talented students from
underprivileged community and the moving sprit behind the initiative is Anand Kumar,
a mathematician. He has, through his initiative, ushered in a silent reawakening in
Bihar, having produced IITians out of the students from the underprivileged sections of
the society. In less than seven years, 187 students — right from the son of a sweeper,
rickshaw-puller and landless laborer to the progeny of a security guard or green-grocer
— have made it to India’s prime institutions. The initiative was named Super-30 because
it started with a short-listing of 30 poor but talented students. All of them were super in
talent, says Anand. Initially, making arrangement for 30 students was not an easy job,
but Anand’s family extended all help in his endeavor.

Anand generated finances by tutoring students of other schools while his mother,
Jayanti Devi, cooked food for the students. For the students, there was only one goal —
to study hard. What followed was rigorous training of the students and the results came
as a big surprise in the very first year.

It motivated Anand to put in more efforts along with his team of dedicated teachers. In
the last seven years, 182 students have made it to different lITs in the country.

In 2003, when Super-30 started its journey, 18 out of 30 students has cracked JEE. The
very next year, the number jumped to 22. In 2005, it improved further to 26. Continuing
the trend, 28 students made it in 2006 and 2007. The magic moment came in 2008
when the result was an astonishing 30 out of 30. Super-30 had hit the bull’s eye. It was
a dream comes true for Anand and his team. Super-30 had done it again in 2009. It had
been 30 out of 30 for the second year in succession. Anand says that the thrust would
be on developing inquisitiveness — so very important for science and mathematics
education. From 2010 onwards, he has decided to increase the intake from the existing
30 to 60 students. Poor students from other states would also get an opportunity to be
a part of the program.

The genesis of Super-30 has a lot to do with the hardship that Anand had to face when
he was still a student. After the demise of his father, a postal employee, he got the offer
for a clerical job on compassionate grounds, but he refused it. He wanted to continue
his studies but faced heavy odds. Later, his mother started making papads, called
‘Anand papads’, and other home-made products, which Anand sold from house to
house. As days rolled by, some started calling him papadwala ladka. But, for Anand, it
was just a passing phase. He worked hard to make a living and in his spare time,
studied mathematics. The struggle gave him an opportunity to feel the pains of likes of
him. It was an urge from within that led to the birth of ‘Ramanujan School of
Mathematics and Super-30’.
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76.

77.

78.

79.

80.

81.

Students from which state were selected by Anand Kumar?
(A)  Uttar Pradesh

(B) Madhya Pradesh

(C) Bihar

(D) Odisha

What led to the surprising result in the first year?
(A)  Huge financial support

(B) Immense opportunities

(C) Rigorous training
(

D)  Struggle for survival

Why did Anand decide against choosing a clerical job?

(A) He wanted to establish a school.

(B) He wanted to go to Cambridge University.
(C) He wanted to continue his studies.
(

D) He wanted to help the poor.

How many students have made it to different lITs in the country in the last seven
years?

(A) 250
(B) 195
(C) 267
(D) 182

Choose the correct synonym of ‘Genesis’.

(A)  Movement

(B)  Beginning

(C)  Functioning

(D)  Possibility

J6 fafmit {39 Hu wee g
(A)  HIEd

(B) Hf&a

(C) Hf&d

(D) Wifsx
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82.

83.

84.

85.

(A) gt

(B)  gref

(C) g

(D) 3t

A3t giet MR Hated T »Jg AUHE 3|
(A) 33 &t

(B) &3t gafHzat

(C) Hufma

(D) &3tgigsd

H »y &% €3 Ie, B foq wEe g

(A) At

(B) yxHist

(C) I3t

(D) it

‘Ram and Sham both are happy’ wwna‘tﬁwa‘lwm
(A)  IHPEEH TR YA I

(B) IHM3HHTS YA IS

(C) IH»3TH T YH Il

(D) IH W= HH T YA H

Passage Punjabi

J51 fe3 7o & fors s U3 M3 Yy 86 3Y 90 a2 €33 ek

iy T <t 936 yduaT feg st W31 3 §8<3 < 1l © fenw WETs J1 Fife 3 A3 ©
Hifgd fet gardui & 7a1ss arfedt 919 9dat fed Yers 93t feg onrar 9fg3 IHast <
19 (feat &t 19) =1 91g gy H I1d Afas t feg waq I feg fegt & »wu@ 2« feg yard3
3 31 Wd feu Bt © 89 a6 @ YB3y Yre J | for Tg © anfes fegt gareht &
Jifgniel © 389 AN 91 Wda& ©< il © Td9Td feg di37| I9-13 &t 8937 m3 Iid T <Y
J1d-gut feg yses <=3t ifpwm3Ha IHd § fer =g feg yr33 o3t fam J1 I1d »iars
< Hl 378 AT fEqi ¥ 'gad €T HIE HI w3 guflie 91g ©rdt Ha™e e | fegi 2 gn
HE 3 Id WIS T 1t S AYJ THY Har31 § 98 1 did36 o7& & 7 YA gy feg fast
W3 fEgi € U3 WET &% (FUH 7S 378) HIU' 3 "Iad’ fHY Halt3 €t dtd35 ududr feg
J9 <1 y3Y gu e ygre gu feg Ifemm

26 AB



86.

87.

88.

89.

90.

J1d Jj8 wifag few W31 3 g8<s <t Ife3 faadt 91 97

(A) HYAdITd

(B) dMHIEIdied

(C) gH3dieg

(D) A 3 mHCUTM
H31 3 9%<3 <t rfed w1 gu H |
(A) 3 I35

(B)  HIM Irfes

(C) w3l Hat3

(D)  HJs Jrfesh

J& 58 U3 T Ea<t Iy :
(A)  gurdl

(B) JJudE A

(C) S HI I TSI
(D) < IHIH

A 983 gfg3 e o fem ot 2

(A)  Jg-"3 a3

(B) <Y-3Y Jid gyt feg UGt
(C)  MPAIH THfEnT

(D) JIH3 T ydd

J1d Wd feg 731 3 98<3 T ot T Hl 2

A) THIH®T

B) HIU 3 J&ISTH
C
D

TJTd! IBTITIT TTH!

(
(
(
(D) Jndew

)
)
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91.

92.

93.

94.

95.

Select the most appropriate ANTONYM of the given word.

REPEL

(A)  Attract

(B) Magnet

(C)  Substituent
(D)  Sharp

Given below is a sentence that is jumbled. Select the option that shows the correct
order of the fragments to form a meaningful sentence.

P. see that woman

Q. along the street

R. | often

S. walking
(A)  PQRS
(B) RSRQ
(C) RQPS
(D) RPSQ

TI3 FEE T A Wididet vigee J|

(A) Help
(B) Relief
(C) Relive
(D) Rescue

Identify the segment in the sentence which contains a grammatical error.
| do not / agree to / you in / this matter.

(A) Idonot
(B) agreeto
(C) youin

(D)  this matter.

Select the most appropriate SYNONYM of the given word.

BLARE

(A)  Hinder
(B) Ponder
(C) Plead
(D)  Scream
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Digital Literacy and Awareness / f3#tc® AYd3T M3 ATAIga3T

96.

97.

98.

99.

100.

Netscape Navigator is a

(A)  browser
(B) e-mail
(C) URL

(D)  network

In MS PowerPoint 2019, which shortcut
key is used to create new presentation?

(A)  Ctrl+N
(B) Ctrl+J
(C) Ctl+A
(D) Ctl+M

Which of the following combination is
NOT correct?
|. Batch operation system — Second

generation

[I. Time sharing operating system — Third
generation

(A)  Onlyl

(B) Only i

(C) Bothlandll

(D)  Neither | nor li

What type of an input does the speech
recognition device takes?

(A)  Audio
(B) Video
(C) Text

(D) Image

In MS Word 2019, while using wild cards
in search how many characters does “?’
lets you to use?

(A) 3
(B) 1
€ 2
(D) 4

SIHAY Blded (Netscape Navigator)

i JI

(A)  ggwd

(B) HN®

(C) URL

(D) &e<dd

MS PowerPoint 2019 <4, &<l JH&HS
{3013 I3& Bet fagdt Adcde-ot < <d3
3 A 2

(A) Ctrl+N

(B) Ctrl+J

(C) Ctrl+A

(D) Ctrl+M

foat fed fagz Tz Adt &t 32

|. 99 Quaféar fmer - gt Wi

II. e AT g96 <&t Guafdar e -
EGIRYE]

(A) fHISI

(B) fHI=g Il

C) 1M%<

(D) &3 1&d

R UgTe f3<fen fam 331 @ fesde 8w
I

(A)  M3IQ

(B) <IEI8

C) fwuz

(D) fd39

MS Word 2019 feg, Ad9 f<g v g3
193 Tl <93 Jd AN, ‘7' 3T fdd »iydt
T 233 99& fdar 2

(A) 3
B) 1
(C) 2
(D) 4
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Read the following instructions carefully:

J& Ta7 geest § s 53 ug:

1. Out of the four answer options given for each question,
Candidate has to be darkened only one option as answer
on the OMR Answer Sheet. The answer once marked can

not be changed.

2. The candidate should ensure that the OMR Answer Sheet
is not folded. The candidate should not make any stray
marks on the OMR Answer Sheet. The candidate must
not write the Roll No. at any other place except the
specified space in the OMR Answer Sheet.

3. The candidate needs to write correct and same Test
Booklet No. & Test Booklet Series in attendance sheet as
these are printed on Test Booklet.

4. Candidate needs to show his / her Admit Card whenever
it is demanded by the Invigilator.

5. Candidate is not allowed to leave the seat/ test center
without taking special permission from Invigilator or
Center Superintendent.

6. The candidate is not allowed to leave the Test Hall
without signing on attendance sheet & handing over

OMR Answer Sheet to the Invigilator.

7. Use of Pencil/Electronic/Manual Calculator is prohibited.

8. The candidates are governed by all Rules and
Regulations of the Recruitment Board with regard to
their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of

the Recruitment Board.

9. Candidate must return OMR Answer Sheet & Treasury
Copy to invigilator once after the Examination is
completed. Candidate can only leave the Examination
Centre once after receiving the Candidate OMR copy

from Invigilator.

10. The Candidates are required to submit the Test

Booklet to the Invigilator after the exam.

11. Question Paper will be available on Recruitment Portal
for future references within 24 hours after last shift of

examination is completed.

10.

11.

939 fic 3 B T35 unrfee Us &5 A= fEx feasu § €39
= T F9o I fEa =9 fdpa A3 I €39 § sefowr &t
7 A

Sifeeg’ § fog wetsl g=@= vder 3 fa €39 die i@t &
R Gfiese § €37 Hie 3 feus-8ua Id & foms adi
sIrgE Taerl  Gffeee § G €39 Hie g
foguras Aqf 3 fomrer I fa3 & wuer I S99 &4l faue
gdter]

2Ac Had< Aldi fgue J=at 7 SAc gad<e 3 =1 38 Is1

fsargs garar Hat AT 3 Sieeg § wuT THET F9F
fewg@e J2ari

faags & dTg @ Auade I ferA wigmr 32 fasi, ad &
Srifeeg wuF Menfifinr T3 &di £3 AaTTHEE |

SieTg § wuFt TS Hie 3 gE3HT J13 fast w3 €39 fie
363 fouras § A fias® iftmr o8 3 599 7 & wrfomr
&t 31
Aafrsfedadfcantaws Isadea € <93 396 & Hadt 31

fifimr g% f9 @9&* © wode @ Adn R9 Giee9 Ay
YfgH 3931 993 © A famd w3 fefsmi wilts J=at | wgfas
<91 @ 7S wHfewt § 3931 593 © fomnr w3 fefamit wigAg
fauerfanr Aar|

e w3 I= 3 =i, Gt wrudt 6hirg €39 e
¥eT €e39 ©f at fasgrgs § Truw ader/adet| feees <8
Srifees € Guhinrg anit fiuse 3 gme & Srileeg ifimr
TB &3 Ade 3|

i 3 mmre Giffeest § iRt e Hade fagars a8 my
JIGE IS |

fusst fiftmr fiige @ yaHs J= 3 24 uifew’ @ wiegrieg
Jar|

Note: English Language will prevail if there is any discrepancy in instructions for Punjabi Language.

&< A9g UAsh I S gerfest fog aut @ wizg uftwr Jier d 37 widaHl I o oerfes yHed Jedfl

32

AB




